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1,035,000




SN Ao
M o= AN(RYD)
Sl RIRZA Y BM=X AW CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFUXNXAAAZ & 11,760
-&J]3 30,000& = 28Y * 12& 10,080
-2 Al 3 30,000 » 28Y * 23| 1,680
OEAIY R Z 200,000& = 12& 2,400
02 35244l 800 1,000 A 200
OFUXXHEEH W 28 =42 XH|
1,000,000& * 80% 800
301 dEtEX = 2,700 2,000 700
12 J|EtE &2 2,700 2,000 700
OZFUXX XHOHZ A 2 2432 2,700,000 2,700
scletdes KA 144,650 144,650 0
301 deEtE2XZ 144,650 144,650 0
0BCSHE -0 -EHEEESEMN= 144,650 144,650 0
Ool&+¢ 140,400
|24 300,000& = 30¥ * 12& 108,000
-A03 300,000 = 30¥ * 23] 18,000
~slo B ALY
20,0008 » 30¥ * 23 * 128 14,400
Ooert&EgAZ 50,000& » 85 = 13| 4,250
ANt X& 11,040 9,580 1,460
301 dBtEA =2 11,040 9,580 1,460
04 NtsLHHAH XA 11,040 9,580 1,460
OXszdaad X 11,040
-0F A H| 4,000& * 4% = 1JHCH = 365 5,840
-2% L ety 100,000& = 1JHCH = 128 1,200
PNE= =N 4,000,000& * 1CH 4,000
S3AME A2 126,855 119,836 7,019
101 @121l 13,907 7,193 6,714
04 JI2ZtH22XNEE 13,907 7,193 6,714
OAIIANEH & SSA&82e oY 13,907
=20 72,000 * 1Y x 174 12,528
-AISIEE D282 12,528,000& * 11% 1,379
201 LEt2 A Y| 102,948 102,643 305
01 A2 22| bl 8,084 7,924 160
OHEIHAMXE A2 120,000& * 123] 1,440
OFRURAME AUBLFUBY 248
700,000& * 13 700
OFUXNXME AHESISEE =25
500,000& * 13 500
OFA L 0I232 2018 #¢
20,000& * 500 * 80% 800

- 521 -




SN Ao
M AZAN(RYH)
C: QASA Y FHER X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O&=I| 2&el 2,100
A Y FOUXXME F2D|
35,000 = 504 = 12& 2,100
OZFOINXME S2)| FEB2| L4
100,000& * 12& 1,200
OfIRA T UKD
56,000 = 2CH = 12& 1,344
02 2324l 94,864 94,719 145
Oz22= & HA 49,240
-8 Y AMOSERS(FAL Y FUXXME
) 3,400,000& * 122 40,800
-M3 & FAXR S 150,000& * 12& 1,800
-EA Y FOTXME AHY 23
60,000& = 12& 720
-—wEdE 23 450,000& = 123 5,400
SHA Y FURKME RUUSE ABE
35,000& = 123 420
-gretztel At &2l sl 100,000& * 13l 100
ode Azl 11,000& = 8AlI2H = 105 9,240
OFAL & FOUXNXEEH Al ZEH KX 26,100
-A2R X 8I(2,241m") 5,000,000& 5,000
-l RXzel 3,000,000& 3,000
-0WFHI =2 ¥ FEFY
100,000& = 508 = 80% 400
-HAS2ZE 250,000& » 4201 2 10,500
-H&&H X2l 200,000& =« 280H 5,600
-EAMN ZF s A2 2,000,000& = 80% 1,600
Ot & et 4,284
= = 2,605,000 = 1CH * 80% 2,084
=& 1,000,000& = 1CH * 80% 800
“XHEBA==Z 100,000& = 200 = 13l 200
“ARI =X MEIE HIIRS
100,000& * 128 1,200
ORZHIAIAHE (HA L FOUXXIHEH)
500,000& = 12& 6,000
401 Al HIZ 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OXlote A& 2=(nH,sel &8 )
10,000, 000& 10,000
NEAS 2EEZE2AM XA 1,040 1,040 0
201 Yet2 | 1,040 1,040 0
01 At 22l 1,040 1,040 0
OXgAsI =X AN o & =&
20,0003 = 13H =« 43| 1,040
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2N
X =2
L= B

el

g
HARZAGFE(AZH)
TEAMLFE

E - G2 (3H) - NRAY - BES 0] &k o4 & HlDE2
SHARZAGFZ(FALEH) 387,000 251,600 135,400
SAHZFL 387,000 251,600 135,400
2oz & ARZAY 229,600 93,600 136,000
201 Let24d] 6,600 6,600 0
01 At 2teltl 6,600 6,600 0
OEX0E HBAAE(D-DAS) A2
6,600,000 6,600
401 AIEHI L 20 223,000 87,000 136,000
01 A& HI 208,000 70,000 138,000
Ozzs MEXY 10,000,0002 10,000
OE2 S NE |XE=H 50,000,000& 50,000
OARE FUSAMY =2 - &) S|
10,000, 000& 10,000
OBMN WAEZY HdAIEH EHHI
18,000, 000& 18,000
OBM 28 2= &3 & SAtH|
120,000, 000& 120,000
03 Al = O bl 15,000 17,000 £2,000
ON&ZEH gz 5,000,000& 5,000
Oz & stadEd &H2dXE 10,000,000 10,000
Z2ZXIH At 7,400 8,000 A 600
206 M= Hl 2,400 3,000 A 600
01 24l 2,400 3,000 A 600
OZZXZEMY MEFL(EH & HIz 8)
3,000,000& * 80% 2,400
401 Al HIZ 201 Y] 5,000 5,000 0
01 A&l 5,000 5,000 0
Oosttxd & M= S 5,000,000& 5,000
= E O ol At 150,000 150,000 0
401 Al HIZ 201 8] 150,000 150,000 0
01 A& HI 150,000 150,000 0
ORI ATHA HE H242 =4 2 F0
28 =4 150,000, 000& 150,000
HY2AZH (ALH) 89,037 94,787 A5,750
dH(agd) 89,037 94,787 A5,750
=2l 89,037 94,787 A5,750
201 ¢er24] 46,027 45,827 200
01 At 22l 34,420 34,390 30
Oga2(2=2tl) 14,340,000 14,340
Oget=EH| 6,246,000 6,246
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SA A

[sgy= Jrwi)

HE: HY2IFH (HLH)
¢ J2du(fEH) (=& J)
SN HH-S(BN) - MBAY - B il HlnE2
O= &l 5,230,000& 5,230
OBHEY A42F 7| 8,604
L 3,960
g4
440,000 * 10 » 483 = 23| » 90% 3,168
- 440,000& * 1084 = 28] » 90% 792
-ptzel 200,000& * 9O = 23] * 90% 3,240
~=AIN(EHYEE)
200,000& = 2CH = 33l = 90% 1,080
—-FAX 120,000& = 1CH = 33l = 90% 324
02 8323l 11,607 11,437 170
O23223 M(2EZ) 9,900, 000& 9,900
O#FEHI | 2=l 1,707
-GS AR D121
1,300,000 * 17CH = 5% * 70% 774
-Telg 4,000,000& » OCH * 2% = 70% 504
-= AtJ| 15,000,000 * 2CH = 2% * 70% 420
—FAX 600,000& * 1CH * 2% * 70% 9
202 O4dl 32,130 37,800 25,670
02 M0 32,130 37,800 AN5,670
O NN 225,000 = 17 = 128 = 70% 32,130
203 &R =T Y| 10,880 10, 160 720
01 JI22g YR =aH 6,600 6,600 0
o 550,000& = 123 6,600
02 A& H 2= 680 560 120
OX A A& = AH I 40,0003 = 17H 680
04 NI 3,600 3,000 600
ORAN2EIRFEHI 300,000& = 123 3,600
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